Patko6 Balazs
Voros Zsolt

6:0, 5:7, 10:7

1. fordulé | 11. fordulo | 111. Fordulé El6dontd DoNtd |
1 |Keresztes/ Hautzinger| 1 | I
1 Keresztes/ Hautzinger |
2
Keresztes/
Hautzinger
3 |Németh Z / Péterfalvy Z | 76 76
lNémeth Z / Péterfalvy Z| e
4
Keresztes/
Hautzinger
szombat| o | Simon S/Inhoff M | — 6_92
10:00 | Cserveni Z/Vigh S | e
6 Cserveni Z/Vigh S
8.) palya 9 6:4, 7:6, (9)
Balint J/Arany |
bat
szombat| 4 Orosz Gy/Percze | | 61 64
10:00 | Balint J/Arany | | T
B 8 Balint J/Arany |
7.) palya wo. Keresztes/
Hautzinger
9
I Maté J/F6di T | 7:6, 617, 10:5
10 Maté J/Fédi T
Maté J/F6di T
11
I Deéki P/Kollar J | 6:4,7:5
12 Deéaki P/Kollar J
Maté J/F6di T
13
, , :4, 3:6, 10:7
I Késa J/Arat6 Z | 6:4,3:6, 10
14 Koésa J/Araté Z
Késa J/Arat6 Z
» [ 6:4,7:6
| David L 7/ Salzinger T | T
16| David L / Salzinger T | 4.
17| Patkoé B / Voros Zs 3. | |
| Patké B / Voros Zs
18
Patké B / VoOros Zs
19
I Marosvari T/Manzini T | 6:1,7:5
20| Marosvari T/Manzini T
Patké B 7/ Voros Zs
21| Agoston T/ Katics A - -
I Agoston T/ Katics A | 6:2,7:5
22
Agoston T/ Katics A
23 Priger T/ Blum A - -
I Priger T/ Blum A | 7:5,6:4
24
= Patké B / Voros Zs
t
szombat| »g Jozsa T/Csepela | | 76 .62
10:00 | Bartos S/Fazekas Z | e
. 26 Bartos S/Fazekas Z
6.) palya 6:5, wo.
dr. Gergely M / Péter P
szombat ,
27| dr. Gergely M / Péter P | 61 60
10:00 | dr. Gergely M / Péter P | T
28| M ko6 K/ Szatmari Z
5.) palya aczekd zatmari 6:0.6:1 _
Tonk I/Gyarmati Gy
29
I Gyarmati Gy. /Tonk I. | 716, 6:4
30 Tonk I/Gyarmati Gy
Tonk I/Gyarmati Gy
31 | o
lMoInér Sz./ Molnar K.| :
32| Molnar Sz/Molnar K | 2.




